Malzeme Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

Dosya Adi / Document Name
Kat Kapisi / Landing Door - / 14.04.2021

Asansor Kat Kapilari / Elevator Landing Doors

Malzeme Listesi
List of Spare Parts

TURSBO

ELEVATOR COMPANY
T.T.

CE

2195

Tarih / Date Rev. Ozeti / Summary of revision

14.04.2021 Ash (Bu tarihte onaylandi ve Onaylanmis Kurulusa génderildi.)
The Original; approved on this date and sent to the NOBO.

Merkez Ofis (Head Office)
ivedik OSB, Hasemek Sanayi Sitesi, 1465.Sokak, No:17, Ostim/ANKARA
Tel: (+90) 3123942978
Fabrika (Factory)
Akcadren Mah. Akcaodren Kiimeevleri, No:257, Sincan/ANKARA

www.turbottelevator.com

CAGIN




Malzeme Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date
Dosya Adi / Document Name

Kat Kapisi / Landing Door - / 14.04.2021

Acil agma kilidi (sol)
Emergency unlock (left)

Acil agma kilidi (sag)
Emergency unlock (right)

Acil agma

=Lock stopper rubber> /.1
T.T.

Egzantrik agma makarasi
Eccentiric landing door lock roller

Kat kapisi kilitleme tertibat1 (sag)
Landing door locking device (right)

Kat kapisi kilitleme tertibati (sol)
Landing door locking device (left)




Malzeme Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date
Dosya Ad1 / Document Name

Kat Kapisi / Landing Door - / 14.04.2021

Kat Kapis1 Erkek fis
Male switch (car)

Kilit acma makarasi
Landing door lock roller

(Teles

)o
i %@F\]Y

Kap1 kilit karsilig1 (sag)
Lock house plate (right)
(Teleskobik)

Kap kilit karsilig
Lock house plate
(Merkezi/Central)

Tasiyic
Carriage




Dosya Adi / Document Name

Malzeme Listesi / List of Spare Part

Revizyon No-Tarihi / Rev. No-Date

Kat Kapisi / Landing Door

-/ 14.04.2021

Halat tutucu kol komple (Sol)
Complete rope anchor (Left)

Halat tutucu kol komple (Sag)
Complete rope anchor (Right)

civata DIN912

T limame)

ELE\ ek f_fﬁ/epap

Kat kapis1 kapama yay1
Landing door closing spring
(Teleskobik)

Kap1 paten plastigi
Door skate plastic

Halat makaras1 {@57 mm}
Rope roller




Dosya Adi / Document Name

Malzeme Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

Kat Kapis1 / Landing Door

-/ 14.04.2021

Egzantrik kap1 alt makarasi
Eccentric door bottom roller

Tastyici list makarasi
Lower kicking roller with eccentric

Tasi

e

=_=Rail distance-profile ;..
T.T.

Gerilim halat silindir destegi (sol)
Tension rope roller support (left)

Gerilim halat silindir destegi (sag)
Tension rope roller support (right)

Kilavuz halat silindir destegi (sol)
Guide rope roller support (left)




Malzeme Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

Dosya Ad1 / Document Name
Kat Kapisi / Landing Door -/ 14.04.2021

Kilavuz halat silindir destegi (sag)
Guide rope roller support (right)

Panel alt kizak
Panel down skate

Merkezi kap1 tampon saci
Buffer sheet (central)

Aliiminyum alt yol (teleskobik)
Aluminium bottom track

Aliiminyum alt yol (merkezi)
Aluminium bottom track (central)




Malzeme Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date
Dosya Ad1 / Document Name

Kat Kapisi / Landing Door - / 14.04.2021

118

|
L ’-? “—FEU quu T Aliiminyum alt yol (3P)
T_ [ [ Aluminium bottom track

} Giiclendirilmis Celik Esik
Powered steel track

=1 =\, imbus-cwvata, > /1
T.T.

Kasa Baglant1 Kenedi
Side fixing bracket

L duvar konsolu / kenedi
L bracket (wall)

Baslik ve alt yol baglant1 kenedi (duvar)
Top&bottom fixing bracket (wall)




Dosya Ad1 / Document Name

Malzeme Listesi / List of Spare Part

Revizyon No-Tarihi / Rev. No-Date

Kat Kapisi / Landing Door

-/ 14.04.2021

M6*16 Civata DIN 933
Bolt DIN 933

M6 Somun DIN 934
M6 Nut DIN 934

Mé6*20 civata DIN 933
M6*20 bolt DIN 933

M8*50 civata DIN 931
M8*50 bolt DIN 931

M8*20 civata DIN 933

ELEVATOR COMPANY
Civata DIN.933 / M8 P

t with washer




